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1. KBTM Moravsky Beroun - ¢asovy plan divize A,B,C,D

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
Al-kolol [Al-kolo1l [Al-kolo1l |Bl-kolo1l |Bl-kolo1l [B1-kolo1l Cl-kolol |Cl-kolol [C1-kolol |D1-kolo1l |D1-kolo1l |D1-kolo1
A2-kolol [A2-kolo1l [A2-kolo1l |B2-kolo1l |B2-kolo1l [B2-kolo1 C2-kolol |C2-kolo1l [C2-kolol |D2-kolo1l |D2-kolo1 |D2-kolo1
Al-kolo2 |[Al-kolo2 |[Al-kolo2 |B1-kolo2 |B1-kolo2 [B1-kolo2 Cl-kolo2 |Cl-kolo2 [C1-kolo2 |D1-kolo2 |D1-kolo2 |D1-kolo?2
A2 -kolo2 |[A2-kolo2 [A2-kolo2 |B2-kolo2 |B2-kolo2 [B2-kolo2 C2-kolo2 |C2-kolo2 [C2-kolo2 |D2-kolo2 |D2-kolo2 |D2-kolo 2
Al-kolo3 [Al-kolo3 |Al-kolo3 |B1-kolo3 |B1-kolo3 [Bl-kolo3 Cl-kolo3 |Cl-kolo3 [C1-kolo3 |D1-kolo3 |D1-kolo3 [D1-kolo3
A2 - kolo3 |A2-kolo3 |A2-kolo3 [B2-kolo3 [B2-kolo3 [B2-kolo3 C2-kolo3 |C2-kolo3 [C2-kolo3 [D2-kolo3 [D2-kolo3 |D2-kolo3
Al-kolo4 |Al-kolo4 |Al-kolo4 [Bl-kolo4 [Bl-kolo4 [B1-kolo4 Cl-kolo4 |Cl-kolo4 [C1l-kolo4 [D1-kolo4 [D1-kolo4 |D1-kolo4
A2 -kolo4 |A2-kolo4 |A2-kolo4 [B2-kolo4 [B2-kolo4 [B2-kolo4 C2-kolo4 |C2-kolo4 [C2-kolo4 [D2-kolo4 [D2-kolo4 |D2-kolo4
Al-kolo5 |Al-kolo5 |Al-kolo5 [B1-kolo5 [Bl-kolo5 [B1-kolo5 Cl-kolo5 |Cl-kolo5 [C1-kolo5 [D1-kolo5 [D1-kolo5 |D1-kolo5
A2 -kolo5 |A2-kolo5 |A2-kolo5 [B2-kolo5 [B2-kolo5 [B2-kolo5 C2-kolo5 |C2-kolo5 [C2-kolo5 [D2-kolo5 [D2-kolo5 |D2 -kolo5
A-SF1 A-SF2 B - SF1 B-SF2 Al-A2(3) [A1-A2(4) |B1-B2(3) |B1-B2(4) [C-SF1 C-SF2 D - SF1 D-SF2 Cl1-C2(3) |C1-C2(4) [D1-D2(3) [D1-D2(4)
A-F B-F A(0o3.-4.) |B(0o3.-4.) [A1-A2(5) |A1-A2(6) |B1-B2(5) (B1-B2(6) |C-F D-F C(03.-4.) |D(03.-4.) [C1-C2(5) |C1-C2(6) |D1-D2(5) |D1-D2(6)




